31 02 14

G )

20,940 | 20,770] | o | 170[ |

0.81

H27

H29

H31

3,594m

Oom

1797m

3594m




H27 |He8 [H29 [H30 [H31

A03-001 n n n n n 2,850
1-A1-2

A03-002 ] ] ] ] ] 1,410 |65.7
1-A1-3

A03-003 n n n n n 1,490 |13.6
1-A1-4

A03-004 ] ] ] ] ] 4,500 |10.0
1-A1-7

A03-005 n n n n n 1,700 |5.3

1-A1-1




H27 |He8 [H29 [H30 [H31
A03-006 n n n n n 2,200 (9.7
1-A1-2
A03-007 | B B 1,540 [52.0
1-A1-10
A03-008 n n n n n 1,010 |10.0
1-A1-11
A03-009 | | | | | 780
1-A1-5
] ] ] 17,480 |
A08-010 ] ] ] ] ] 1,510

1-A1-14




H27 |He8 [H29 [H30 [H31

A08-011 n n n n n 1,000 |6.4
1-A1-14
A08-012 [ B BN B B 780
1-A1-12
| N 3,290

20,77o|




H27 |He8 [H29 [H30 [H31

C08-001

170

1-C1-1

170 |

170 |




H27 H28 H29 H30
() 924 1,257 1,379 2,031
(b) 0 0 0 0
(c=atb) 924 1,257 1,379 2,031
@ 405 517 603 880
e) 812 1,171 1,102 1,357
) 517 603 880 1,554
424 91 423 941
(h = ct+d-e-f) 0 0 0 0
(i = (g+h)/(c+d)) 31.9 5.12 21.34 32.32
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